Vocabulary 54 Review

1. 9.
2. 10.
3 11.
4 12.
5. 13.
6. 14.
7 15.
8.
A. The (adj.) marriage took place between two people within the same tribe.

B. Because the innocent victims of the bomb were standing beside the intended targets, they were considered

“ damage.”

C. | always give my students a/an speech, urging them to study hard and to do
their best in all things.

D. The (adj.) servant had a written contract to work for seven years for the

man who paid his passage to America.

E. The insurance company gave the owner of the totaled car a/an
settlement—they did not pay her what it would cost to replace her car with a new one but the proportion that it
was worth when it was totaled.

F. Because he was so , my dog aced obedience training school!

G. ltis a true fact that the phrase “free gift” is a/an

H. Macbeth is one of Shakespeare’s most plays, full of all kinds of blood
and gore.

I. Please help us to understand that concept better by (-ing) it; shine the light on it.

J. is a good marriage practice to have in order to vary the gene pool of any tribe
of people.

K. Because the student had little internal motivation to excel, she relied on grades as a/an
motivator.

L. After leaving computers on in the cage for two months, the chimpanzees
created an algorithm to speed up the dropping of bananas from their automatic feeder.

M. “Dr. Seuss” is the for author Theodore Geisel—it’s not his real name.

N. The starving child’s stomach was stretched full of air, (-ing) from
malnutrition.

O. The opposing sides were so full of impractical, uncompromising (s) that

they were not able to compromise on any of the issues.



